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(iii) Current Balance of Payment situation in the

country.
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PART - A

(a) Balance of Payments data is given below (in US$
billion) :
Trade balance = —74.4
Errors and Omissions = 2.5
Imports = 197.65
Transfers = 3(.34
Income from profit, interest and dividend = -14.34
Services = 36,78

Capital Account Balance — 42.62
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(a) Discuss the terms of reference of Fifteenth
Finance Commission. (6)

(b) Compare some of the major recommendations of
Fourteenth and Fifteenth Finance Commission.
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Write short notes on any two {rom the following :
(7.5%2)

(1) Situation of fiscal deficit in India post 2000s,
(ii) Fiscal Federalism in India.

P.T.C).




5840 4

IWFd e & NuR W, HFefRas a5 o =5t
(i) e

(i) =l @ W A9 Balance

(i) +erR % aRaw=

() TR BEART ¥ SIS ST S SR ST
Rd & fog v gHmn o 27

PART - B

(a) What is the union budget? How the union budget
is prepared and presented in parliament? Also

analyse its implementation. (10)

(b) Differentiate between Consolidated fund and

Contingency fund of government. (3)
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Explain the trends in India’s merchandise exports and
imports and its impact on Balance of Payment.
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(a) “The credit boom financed unsustainable real
estate inventory accumulation, inflating a bubble
that finally burst in 2019”. In the light of this
statement, discuss the twin balance Sheet problem
causing the slowdown in the Indian Economy.

)

(b) Describe the balance of payments identity and
discuss its implications under the fixed and flexible

exchange rate regimes. (6)
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5. (a) Explain Human Development Index (HDI).

Also discuss the India’s position in global HDI
ranking. (8)

(b) Define Exchange rate. How exchange rate

(7)

(3)

6. (i)

(i)

volatility affect the foreign trade? (7)
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Describe the structure of indirect taxes in
India before the implementation of GST.
Explain some of the advantages that can arise
with the adoption of the GST system in our

country. )]

What are the challenges that should be addressed
to be able to reap the full benefits of this change

in the indirect taxation system? (6)
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On the basis of the above data, calculate the
following :
(i) Exports

(ii) Balance on Current Account

(iii) Change in reserves (3+3+3)

(b) Why is horizontal inequality and vertical imbalance

in fiscal transfers a challenge for India? (6)
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IR = 197.65

AT = 30.34
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